
J. Organometal. Chem., Vol. 70, No. 3 (May 7th, 1974) 

Page 411, line 4 should read: 

B* and B* (k, and k9 ) giving B, must be less easy for linear than for cyclic 

Page 411, line 3 from the bottom should read: 

hydrogenation quantum yield (approximately 0.03 for trans,trans isomer): 
W(CO), 

J Organomefal. Chem., Vol. 74, No. 1 (July 16th, 1974) 

Page 19, line 10 from the bottom’ should read: 

Pr > i-Pr > t_Bu, and k,/k, equals for R = Me, 1; R = Et, 2- lo- I; 
R = i-Pr, 1O-2-1O-3 ; 


